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Biology

BMR is...

T

The factors that affect BMR are:

Cholesterol is

Cholesterol particles

Statins are...

Buildup of cholesterol
in the lining of artery

Plaque forms
(atherosclerosis)




White blood cells have three functions, these are:

Ignaz Semmelweiss




Vaccines

Weak or dead microbes are
injected into the body.

s Antibodies are
"/ produced which
~_/ destroy the
microbes and
their toxins.

"~ The antibodies remain
~ long after the
microbes have gone.

Medicines

Antibiotics

How antibiotic resistance arises

The key points of aseptic technique are:

1.




Sense Organs

Receptors Sense Organ(s) Sense(s)
Eyes f
Chemical
Balance & change :
" Hearing
of position
Nose k)
Touch/Pressure/
Pain/Temperature
stimulus Receptor Sensory Relay Mator Effector Response
MNeurone MNeurone MNeurone

Nerves




Sensory Nerves

Motor Nerves

Synapses

Homeostasis is...




A hormone is

The female reproductive system

The menstrual cycle

DAY 1-

DAY 14 -

DAY 28 -

last day
28th

27th

1stday, opg

> 3rd
menstruation

uterus

lining / C
continues
to thicken

4th
24th

5th

uterus
23rd
is shed 6th

22nd

21st

egg dies
if not
fertilised

20th

19th

a mature
egg

released
from ovary

10th
18th
11th

15th © 14th

The menstrual cycle




FSH -

LH -

Oestrogen -

Oral Contraceptives

Fertility Treatments

IVF




Plant Hormones

flower

Tropisms are...

Light from above

Light from one side




Testing new drugs

Lab Testing

Animal Testing

Clinical Trials

Open -
Blind -
Double blind -

Placebo -

Drugs are...

Thalidomide




Chemistry

Atoms are...

Elements are...

Compounds are...

Structure of an atom \

Particle | Mass | Charge
Negligible 1-
1 1+
1 0

Periodic Table

Carbon




Electron Arrangement

Rules
1. The inner shell can only hold 2
electrons.

©

g‘

H 2. Electron shell number 2 can
hold up to 8 electrons.
@ 3. Electron shell number 3 can
hold up to 8 electrons.
Li Be B C
Na M Al Si

K

©

C‘

Anionis...

How would Sodium and Chlorine react together?

chlorine atom,




Covalent bonding is...

Draw:

Cl,

H.O

CH,4

NH4

Balance the equations:

C+0 > CO

2 2
M9+029M90
H+Cl29HCI
Na+Cl29NaCI

Na + HZO - NaOH + H2



Limestone -

Quarrying Limestone

Positive Negative

Thermal Decomposition is...

Metal carbonate - Metal oxide + Carbon dioxide

Metal carbonate + Acid = Salt + Water + Carbon dioxide



Limestone Cycle

\ Lime Water

Calcium Hydroxide

- Limestone /

Solution Calcium Carbonate
Ca(OH), o) CaC0;,
Slaked Lime Lime
Calcium Hydroxide Calcium Oxide
Ca(OH), Ca0
revisionvorld i
Cement Mortar Concrete

Ore -

Extraction -

Reactive -

Unreactive -




Reactivity Series

Displacement reactions are...

1. Magnesium +Zinc sulphate >
2. Magnesium + Copper sulphate >
3. Zinc + Iron sulphate >

4. Iron + copper sulphate >

potassium
sodium
calaum
magnesium
alurminium
carbon
z2inc

iron

tin

lead
hydrogen
copper
silver

gold

platinum

most reactive

least reactive

K
Na
Ca
Mg
Al
-
Zn
Fe
sn
Pb
H
Cu
Ag
AU
Pt



Reduction -

Lead oxide + carbon —
2PbO +C —

Zinc oxide + carbon —
2Zn0 + C —

Electrolysis -

Extract OR recycle - Aluminium

Extract




Copper

Smelting Phytomining Bioleaching
Other useful metals
1 2 3 45 6 70
H He
Li Be B C N O F Ne
Na Mg Al Si P S Cl Ar

K CaSc Ti V Cr MnFe Co Ni CuZn Ga Ge As Se Br Kr
'Rb Sr Y Zr Nb Mo Tc Ru Rh Pd Ag Cd In Sn Sb Te | Xe‘
Cs Ba La Hf Ta W Re Os Ir Pt Au Hg Tl Pb Bi Po At Rn‘

Fr Ra Ac

Transition metals




An alloy is:

Carbon atom Nickel atom
Iron atom Chromium
atom

Pure iron High carbon steel Stainless steel

E. i Crude oil is:

Alkanes are:
CnH 2n+2
Name Formula Structure
Methane
Ethane

Propane




Fractional Distillation

[e—— —> Refinery gas
‘< Used as a fuel
0

J06 petra
Used in cars

110% Naphtha
wpp  Used in chemical
production

180 Kerosene
=P Used as Jel fuel

Diesel oil
0

260C  Fyelfor diesel

- engines

—- Residue

7 . 34 OC Fuel for ships,

Heated ™= _>0 lubricating oi,

crude oil road surfaces

Combustion
methane oxygen carbon water
+ XY9 > dioxide +
Pollutants
Name Formula Affect

Carbon dioxide

Carbon monoxide

Sulfur dioxide

Nitrogen oxides

Alternate fuels...




Physics

Infra-red is:

white

silver




Change of State

Solid Liquid Gas
110+
The temperature stays Kinetic theory
100- constant while the liquid is
boiling. The particles are
90- escaping from the

gas liquid to form a gas.

Temperature/°C

20

Time/minutes

Conduction

Heat




Convection

= = Y
]

Evaporation Condensation

Factors affecting Evaporation




Insulation

= ==
EE)}

U-values are...

Heat capacity

E=mxcx®6



List the Energy Stores

0 o N o O s

Energy Transfers

Process

Energy input Energy output

Chemical energy
in the fuel

Kinetic energy in the
engine and wheels

Car engine
Sankey Diagrams
Electrical energy %IOQTJ“ energy
100J
Efficiency = Useful ener
o P x 100
Total energy
Heat
%03

Sankey diagrams:




Reading meters

317899

{cosf = number of units x cost per unit}




